INDIAN SCHOOL AL WADI AL KABIR

DEPARTMENT OF MATHEMATICS (2025-2026)
TOPIC: ADDITION, SUBTRACTION AND THEIR APPLICATIONS WORKSHEET

RESOURCE PERSON: Mrs. Mini Henry
NAME: CLASS: V SEC: DATE:

Read the instructions and do as directed.

I. Read the questions carefully. Solve them if required and then circle the correct
answer.

1) The sum of 23,456 and 76,544 is
a) 1000 b) 10,000 c) 1,00,000 d) 2,00,000
2) If you subtract 43,210 from 87,654, you will get 44,444 as the answer.
a) True b) False

3) A school needs 600 cans for a food drive. If 470 cans have already been collected, how many

more cans do they need to collect?
a) 210 b) 130 c) 103 d) 1070

4) Sarah has 78 candies. She gave 23 candies to her friend and then bought 34 more. How many
candies does she have now? Which is the correct way to solve this sum?

a) 78—-23+34 b)78 + 23 -34 C) 78 - 34 +23 d)78-34-23
5) If you have 230 apples and you buy 170 more, how many apples will you have in total?
a) 400 apples b) 330 apples c) 420 apples d) 500 apples
6) The sum of two numbers is 5000. If one of the numbers is 2500 what is the other number?

a) 2000 b) 2500 c) 3000 d) 1500

7) 10,000 more than 45,675 is

a) 46,675 b) 44,675 ¢) 55,675 d) 50,000
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II. Arrange in columns and find the sum. 72,485 + 1,54,603

II1. Subtract 63,580 — 35,725 and check your answer by addition.

Subtract

Check

IV. Solve the word problems given below. ("EVS Math Integration")

1) Mr. Johnson has a farm with 1,23,456 orange trees. If he plants 2,34,789 n

more orange trees, how many orange trees will he have in his farm?

2) A country planted 2,00,000 trees in 2020. Unfortunately, due to *deforestation,

78,543 trees were cut down. How many trees are still standing?

(*deforestation: Cutting down trees on a large scale. Lately deforestation happened in Kancha

Gachibowli area in Hyderabad, India.)

SHVE

FOREST 5
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